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Hints & Solutions
PHYSICS
91. Hint:

Area enclosed under the curve

92. Hint:
Area enclosed under the curve; dQ =dU +dW

93. Hint:
dQ =nc,dT
94. Hint:

Clock wise - +ve; Anticlock wise - - ve

95. Hint:
T2
n= T,

97. Hint:

dQ =nc,dT




98. Hint:

Vrms = ﬂ
VM

100. Hint:
PV =nRT

103. Hint:
Area enclosed under the curve

104. Hint;:
Most repeated
106. Hint:
Area enclosed under the curve
108. Hint:
mL = mgh
109. Hint:
msdT = mgh
E 110. Hint:
8 %mv2 = msdT
@)
E 111. Hint:
- dQ=dU +dwW
&
(@) 112. Hint:
_8 dW = pdV (1atm =10’ Pa; 1 litre = 10° m’)
>
> 113. Hint:
dQ=dU +dwW
114. Hint:
msdT = mgh
117. Hint:
g_1dQ
m dT
118. Hint:
g_1dQ
m dT
119. Hint:

msdT N = msdT

| water

120. Hint:
g_1dQ
m dT
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121.
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125.

126.

127.

128.

129.

131.

132.

134.

135.

Hint:

dQ =nc,dT

Hint:

dQ = msdT

Hint:

g_1dQ
m dT

Hint:

g_1dQ
m dT

Hint:

msdT o = msdT

water

Hint:
_E_m
t t
Hint:
dQ =nRdT
Hint:
— 1;
n= T1
Hint:
_ Tz
= T,
Hint:
VS = ﬂ’Vrms = 3ﬂ
\l M \} M
Hint:
dQ =nc,dT
Hint:

K.E. same for same temperature

Hint:

dW = pdV (1 atm =10’ Pa; 1 litre = 10 m’)

%k 3k %k % %



